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Spreadsheet instructions for Nebraska NRCS Users:

Crop yield: Crop yield parameters by CMZ are found in FOTG: Sec. | : Erosion Prediction for most common crops. Crop yields entered on the WEQ
spreadsheet should be adjusted to reflect these parameters as closely as possible. For other crops, use best available local information to
determine the crop yield to be selected on the spreadsheet. Be certain that the yield selected reflects the potential of the crop being grown and
whether it is dryland or irrigated.

Actual conditions: If a soil loss calculation is being done based on actual conditions as measured or observed in the field (as for compliance
purposes), the user needs to make certain that default values in the spreadsheet for ridge height and row spacing (columns | and J) match the actual
field conditions. If ridge height and row spacing measurements taken in the field may differ from the values that defaulted into columns | and J of the
spreadsheet, it will be necessary to adjust these numbers. This is done by clicking on the Oper worksheet, then find the operation that matches the
operation on the row you wish to adjust and make the appropriate edits to ridge height and row spacing. Ridge height and row spacing are used to
determine the “K” factor used in wind erosion soil loss calculations and may have a significant effect on soil loss results.

Wheat in rotation: Wheat crop selections from the Crop dropdown list in the spreadsheet have been modified to make them easier to understand
Wheat growth tables were updated for Nebraska to make them consistent with RUSLE2. RUSLEZ2 results from CMZ 5 were used to make these
tables. Wheat can be shown to grow up to December 1 in Nebraska, at which time there should be a dormant period and wheat growth can resume
during the last 2 weeks of March depending upon your location. The last wheat crop shown in the calculation in the fall at the dormancy date (e.g.
Wheat, winter,dry 060) should also be the first wheat crop shown at the spring resume growth date. Do not use an Over winter loss operation during

winter wheat dormancy. Show the same days of growth

at the beginning and end of
winter dormancy
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b1 VWheat, winter dry 045 Growy G0%

Bz/| 121102002 ‘Wheat, winter dyf 060 X Gy 70%

BN 441 /2005 DAkest, winter dky 060 ) G 0%,

54 Wheabinter,dry 075 (o BO%.
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No Over winter loss
operation is needed here

Over winter loss: An Over winter loss operation should be included in the calculation for crop residues of crops harvested the previous year, but
not for growing crops. The Over winter loss operation should be shown on March 1 or the date of the earliest spring operation, whichever is earlier.
Sodbuster calculations: For sodbuster calculations the initial crop shown on the spreadsheet should be either Sodbuster, cool season, or,
Sodbuster, warm season, depending on the situation. The first operation shown after Start Rotation should be Harvest. This will set the initial
available dry matter level (column L) at the appropriate poundage (3000 Ibs for cool season and 3500 Ibs for warm season grass). The date of Start
Rotation, Harvest and the management operation when the sodbuster seedbed preparation begins should all be the same. In other words,
sodbuster calculations begin with the date of seedbed preparation (by current policy). Refer to current Nebraska sodbuster policy to determine
duration of sodbuster calculations for planning and compliance decisions.

The Start Rotation, Sodbuster: Harvest and first
tillage operation for seedbed prep should all
have the same date
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Cover crops: As in previous versions of the calculator, any crop grown must be harvested before any other operations can be used; however, in
v9.02, some crops which are commonly used as cover crops can be harvested on any date of growth and the resulting cover amounts used in the
calculations will reflect the amount of biomass that was available at the time the cover crop was harvested (this is essentially equivalent to killing the
growing cover with a non-selective herbicide). Because of the way the mathematical formulae work within the spreadsheet, it is necessary to show
four operations on the date that you wish for the cover crop to stop growth. Refer to the example below for the proper sequence of operations.
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57 ¢ 32002\ Rye Cover, irr D60 / icrow N\ 100%
BY | 3mm2002 FRve Cover, ind0B0) [ ‘iHarvest \ 100%,
BY | 3M/2002 Rye Cover, irr \ Mo Operstion\ / 100%,
70N, 3472002 /:Rye Cover, irr Mo Cperation/\ 100%
71| Smeon?  iCorn, grain, irrigated Flarter DpEl\er i 100%
72

These four operations done on the
same date stop rye cover growth at
60 days (as if sprayed) and allow

subsequent operations to continue.

The following crops can be harvested (growth stopped) in this manner: wheat, spring oats, rye cover, forage sorghum and alfalfa (alfalfa is included
because it is commonly killed with chemical prior to no-till planting of the subsequent crop). These and any other crops harvested for production
should show the crop name without days of growth in column B when harvested.
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fB | 7HMI2002 iCorn, grain, irr GO oy 100%,

£7 | TMER2002 iCarn, grain, irr 75 100%,

78 [ 10m52002 iCorn, grainCirvicsted ) Harvest S0% | 20%
79 [ 10152002 | Corn, grain, irrigated \iMo Operstion / S0%,

80 | 3M/2003 Corn, grain, irrigated OverTwirer loss M 0%,

a1 =

Normal harvest (for production)
operation sequence.

Note: Adding a No Operation operation on the same date as harvest corrects a programming glitch in the worksheet which otherwise may not show
the correct after harvest residue amount.

Irrigation: The irrigation choice from the dropdown should always be selected as N (no) in Nebraska. This is done for the following reason:
Nationally (NAM Circular 8), it was decided that for irrigated crops on soils with | = 180 and lower, the soil | factor would be reduced by one level to
account for the effects of irrigation on the soil surface. In the worksheet, this | factor credit is applied 12 months of the year; however, in Nebraska,
the majority of soil loss due to wind erosion occurs during the critical wind erosion months of March, April and May when there is typically little, if any,
irrigation water applied. For this reason, it has been decided that the | factor credit for irrigation is not valid in Nebraska. Any exceptions should be
approved by the State Resource Conservationist. This cell will be locked on the worksheet.

Just say no
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Using older versions of the calculator. You may have templates you have saved for recurring use on older versions of the WEQ spreadsheet
(v8.01 or v8.05). In the past you could copy a management from v8.01 and paste it directly into v8.05 to get the new result. This no longer works
without some additional manipulation of the inputs. Because there were name changes made in the Operation and Crop files for RUSLE2
consistency, v9.02 will not recognize all of the inputs that will result if a management is copied and pasted from v8.01 or v8.05. It will be necessary
to check integrity of input and make corrections every time an old management is pasted into v9.02. This is done by clicking on each crop and
operation cell and verifying that the dropdown selection highlighted matches the cell contents; when it does not match, another selection must be
made from the dropdown choices. The calculation for soil loss on v9.02 will not be correct until every cell is verified and corrected as needed.

Example 1:
15 | 4r3002001 eat, winter, vield irr Ftivatnr, field, sweeps, 3"-16" M 100%
16 | 5M5/2001 E:EEI:EEIJ gf‘:-“ ég # pter, DD opener, 30 in sp F 100%
17 | siE302001 alra, dry gy 100%
18 | B smony | Afalfa, dry 45 100%.
Alfalfa, dry 60 o J—
19 | TH200M | alalFa, dry 75 tivator, rowecrop, ridge till, pass 1 100%
20| 7rai2001 | Alfalfa, dry, new 1 b 100%
21 | &Moot | Alfalfa, dry, new 30 o 100%,
22 [ 1arspo0] okalba, dry, new 49 et =0% ¢ 10%
T [ s oo o o oo i . ——— P
Wheat, winter, yield irr is not
shown in the dropdown list, so a
new selection must be made
=T T A ] | Il_-!.'ll.I I IL] 1 :|'I|_-IL'I ni [ LS 1 (RIS ] SINIE]] !.'Il LI LY ] IR 1A 1 oy
15 | 43042001 gat winter vyield irrigated - [tivator, field, sweeps, 9"-16" N 100%
16 | 5152001 | Wheat, spring, irr 90 # nter, DD opener, 3000 =p F 1 00%
17 | s=nme001 Wﬂeat, winker, 5i|a||;|ljec| i Lo A00%,
Wheat, winker, vield drylan
18 | 61562001 Wheat, winker, vield irrigated Y : : 100
19| 742001 Wheat, winter,dry 015 tivator, rowecrop, ridge till, pass 1 100%
20 | 7M5/2001 | Wheat, winter,dry 030 iy 100%,
21 | a0t | Wheat, winter,dry 045 A 100%
77 |10M 5001 Lheat, winter, dry 060 et 20 10%
DA A4 rnenmd ireen meaine bicdk wialdl Hramring 1500 £

Wheat, winter, yield irrigated is
selected from the dropdown
choices and now appears in cell
B15.




Example 2:
L | T I Z000 0, grain, RIgen Yien Harvest pu S W
23 [ 1153002001 iCorn, grain, high yield Grazing, 25% - S0%,
24 | 2M/2002 iCorn, grain, high yield ~ S0%
25 | 4r30/2002 iCorn, grain, high yield Grazing, S0% 100%
26 | sM5i2002 icorn, grain. high yield g:gi”g’ G 1" oo
27| BM2002 Corn, grain, high yield Hand pull crop F 100%
28 | BM52002 iSunflower 15 Hand pull crop M 100%
29 | 7rmoo02 Sundower 30 Harrow, coiled tine F 100%
30 | 7HsR002 Sunfiower 45 Harrow, coiled tins N Il R AT

Once again, every cell in crop and operation columns must be verified and/or corrected in this manner for the spreadsheet calculation results to be

correct.

Grazing, 25% appears in
the dropdown list when it
is opened; no correction

is needed




